Bid Tabulation Summary ITB 10057685-15-R

Section	Description	Dion International Trucks, LLC (A)	Dion International Trucks, LLC (B)	E-W Truck & Equipment Co., Inc. (A)	E-W Truck & Equipment Co., Inc. (B)	E-W Truck & Equipment Co., Inc. (C)	Rush Truck Center (A)	Rush Truck Center (B)	Rush Truck Center R (C)	ush Truck Center (D)	Rush Truck Center (E)	Rush Truck Center (F)	San Diego Freightliner
1	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	\$ 4,103,541.00	\$ 4,269,996.00	\$ 3,952,800.00	\$ 4,195,071.00	\$ 4,283,620.20	\$ 3,855,600.00	\$ 3,855,600.00	\$ 4,145,580.00	\$ 4,145,580.00	\$ 3,936,600.00	\$ 3,936,600.00	\$ 4,053,985.20
1	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	\$ 4,605,935.40	\$ 4,766,671.80	\$ 4,406,400.00	\$ 4,665,292.20	\$ 4,807,981.80	\$ 4,390,200.00	\$ 4,390,200.00	\$ 4,673,700.00 \$	\$ 4,673,700.00	\$ 4,487,400.00	\$ 4,487,400.00	\$ 4,591,825.20
2	Color Camera System, Including Installatioin	\$ 69,660.00	\$ 69,660.00	\$ 32,400.00	\$ 32,400.00	\$ 32,400.00	\$ 35,640.00	\$ 59,697.00	\$ 35,640.00	\$ 59,697.00	\$ 35,640.00	\$ 59,697.00	\$ 35,640.00
	Grand Total with 8% Sales Tax:	\$ 8,779,136.40	\$ 9,106,327.80	\$ 8,391,600.00	\$ 8,892,763.20	\$ 9,124,002.00	\$ 8,281,440.00	\$ 8,305,497.00	\$ 8,854,920.00	\$ 8,878,977.00	\$ 8,459,640.00	\$ 8,483,697.00	\$ 8,681,450.40

ITB 10057685-15-R

Vendor: Dion International Trucks, LLC (A)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
		35 Cubic Yard Side Loading Automated Refuse	Wayne					
1	15	Packers Pricing with Diesel Engine	Engineering			\$253,305.00	\$3,799,575.00	\$4,103,541.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Wayne Engineering			\$284,317.00	\$4,264,755.00	\$4,605,935.40
2	15	Color Camera System, Including Installatioin		Intec		\$4,300.00	\$64,500.00	\$69,660.00

Total with 8% Sales Tax: \$8,779,136.40

ITB 10057685-15-R

Vendor: Dion International Trucks, LLC (B)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
	45	35 Cubic Yard Side Loading Automated Refuse	Dadaa			¢262 500 00	ća 052 700 00	¢4.250.005.00
1	15	Packers Pricing with Diesel Engine				\$263,580.00	\$3,953,700.00	\$4,269,996.00
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with CNG Engine	Dadee			\$294,239.00	\$4,413,585.00	\$4,766,671.80
2	15	Color Camera System, Including Installatioin		Intec		\$4,300.00	\$64,500.00	\$69,660.00

Total with 8% Sales Tax: \$9,106,327.80

ITB 10057685-15-R

Vendor: E-W Truck & Equipment Co., Inc. (A)

	Annual		Body	Camera				Extension with
Section	Est. Qty	Description	Manufacturer	Manufacturer	Manufacturer	Unit Cost	Extension	8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	Amrep			\$244,000.00	\$3,660,000.00	\$3,952,800.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Amrep			\$272,000.00	\$4,080,000.00	\$4,406,400.00
2	15	Color Camera System, Including Installatioin		AWTI		\$2,000.00	\$30,000.00	\$32,400.00

Total with 8% Sales Tax: \$8,391,600.00

ITB 10057685-15-R

Vendor: E-W Truck & Equipment Co., Inc. (B)

	Annual		Body	Camera			F. to site	Extension with
Section	Est. Qty	Description	Manufacturer	Manufacturer	Manufacturer	Unit Cost	Extension	8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	Dadee			\$258,955.00	\$3,884,325.00	\$4,195,071.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Dadee			\$287,981.00	\$4,319,715.00	\$4,665,292.20
2	15	Color Camera System, Including Installatioin		AWTI		\$2,000.00	\$30,000.00	\$32,400.00

Total with 8% Sales Tax: \$8,892,763.20

ITB 10057685-15-R

Vendor: E-W Truck & Equipment Co., Inc. (C)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	McNeilus			\$264,421.00	\$3,966,315.00	\$4,283,620.20
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	McNeilus			\$296,789.00	\$4,451,835.00	\$4,807,981.80
2	15	Color Camera System, Including Installatioin		AWTI		\$2,000.00	\$30,000.00	\$32,400.00

Total with 8% Sales Tax: \$9,124,002.00

ITB 10057685-15-R

Vendor: Rush Truck Center (A)

	Annual		Body	Camera				Extension with
Section	Est. Qty	Description	, Manufacturer	Manufacturer	Manufacturer	Unit Cost	Extension	8% Sales Tax
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with Diesel Engine	Amrep			\$238,000.00	\$3,570,000.00	\$3,855,600.00
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with CNG Engine	Amrep			\$271,000.00	\$4,065,000.00	\$4,390,200.00
2	15	Color Camera System, Including Installatioin		AWTI		\$2,200.00	\$33,000.00	\$35,640.00

Total with 8% Sales Tax: \$8,281,440.00

ITB 10057685-15-R

Vendor: Rush Truck Center (B)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with Diesel Engine	Amrep			\$238,000.00	\$3,570,000.00	\$3,855,600.00
1	15	35 Cubic Yard Side Loading Automated Refuse	Amron			¢271.000.00	¢4.065.000.00	¢4 200 200 00
I	15	Packers Pricing with CNG Engine	Amrep			\$271,000.00	\$4,065,000.00	\$4,390,200.00
2	15	Color Camera System, Including Installatioin		Intec		\$3,685.00	\$55,275.00	\$59,697.00

Total with 8% Sales Tax: \$8,305,497.00

ITB 10057685-15-R

Vendor: Rush Truck Center (C)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with Diesel Engine	Dadee			\$255,900.00	\$3,838,500.00	\$4,145,580.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Dadee			\$288,500.00	\$4,327,500.00	\$4,673,700.00
2	15	Color Camera System, Including Installatioin		AWTI		\$2,200.00	\$33,000.00	\$35,640.00

Total with 8% Sales Tax: \$8,854,920.00

ITB 10057685-15-R

Vendor: Rush Truck Center (D)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	Dadee			\$255,900.00	\$3,838,500.00	\$4,145,580.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Dadee			\$288,500.00	\$4,327,500.00	\$4,673,700.00
2	15	Color Camera System, Including Installatioin		Intec		\$3,685.00	\$55,275.00	\$59,697.00

Total with 8% Sales Tax: \$8,878,977.00

ITB 10057685-15-R

Vendor: Rush Truck Center (E)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	Wayne			\$243,000.00	\$3,645,000.00	\$3,936,600.00
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	,			. ,	\$4,155,000.00	
2	15	Color Camera System, Including Installatioin				\$2,200.00	\$33,000.00	\$35,640.00

Total with 8% Sales Tax: \$8,459,640.00

ITB 10057685-15-R

Vendor: Rush Truck Center (F)

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
		35 Cubic Yard Side Loading Automated Refuse						
1	15	Packers Pricing with Diesel Engine	Wayne			\$243,000.00	\$3,645,000.00	\$3,936,600.00
1	15	35 Cubic Yard Side Loading Automated Refuse	Mayne			\$277,000.00	¢4 155 000 00	Ć4 487 400 00
	15	Packers Pricing with CNG Engine	Wayne	<u></u>		\$277,000.00	\$4,155,000.00	\$4,487,400.00
2	15	Color Camera System, Including Installatioin		Intec		\$3,685.00	\$55,275.00	\$59,697.00

Total with 8% Sales Tax: \$8,483,697.00

ITB 10057685-15-R

Vendor: San Diego Freightliner

Section	Annual Est. Qty	Description	Body Manufacturer	Camera Manufacturer	Manufacturer	Unit Cost	Extension	Extension with 8% Sales Tax
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with Diesel Engine	Amrep			\$250,246.00	\$3,753,690.00	\$4,053,985.20
1	15	35 Cubic Yard Side Loading Automated Refuse Packers Pricing with CNG Engine	Amrep			\$283,446.00	\$4,251,690.00	\$4,591,825.20
2	15	Color Camera System, Including Installatioin		AWTI - 3rd Eye		\$2,200.00	\$33,000.00	\$35,640.00

Total with 8% Sales Tax: \$8,681,450.40